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Shortest Path Algorithm:

· Find the shortest distance from start node to all other nodes in the network.

· One way trip.

· Simple concept, hard for big problems.

· Do example C).

· Show example C) online.

· Do SPA 1.

TSP: Traveling Salesperson Problem

· Start at any node.

· Visit each other node exactly once.

· Return home.

· All at minimum total distance.

Examples:

· Airlines (planes, crews, etc.)

· UPS/FedEx

· Computer chip/circuit board

Methods:

· Hard:  (np complete) No efficient solution possible.
· Good Heuristics available.
· Brute Force!
· Do E) and F)
· Look at TSP website.
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